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Consider the two mass - one spring system, shown in Figure 3. Derive the equations of motion for this

system. Determine the transfer functions: 745 and 3
dentify the poles and zeros of the two u;\mfer fummm. Physically what do these poles and zeros represent?
Why are the poles of the two transfer functions the same? Why are the zeros of the two transfer functions
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Figure 2:  Position control system
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Figure 3. Massspring system

different?

Write the equations of motion in state-space form with the state variables chosen to be the positions and
velocities of the two masses, and the output chosen to be the position of mass My. The input s the applied
force F.

Simulate the dynamic behaviour of this system using matlab /simulink.




[image: image3.png]Myiy = F — k(xy = 2)
Mas = k(ai —3)
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